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(1) &35 Usstell ORL Uzl gl ey sulda .
(2) %33 2eldl waeAdl qezd suladl.

1w ke 2ny20-2022+1 [o1d 20U 8 20
[ata siclwd (3.) wwr (3.)
HlA-AHIA 4,00,000 5,20,000
gl 2,50,000 3,25,000
AU (1 At 3. RAR) 2.00,000 2.20,000
YU (Aledt) 75,000 95,000
sRullAl Mg (RAR) 1,00,000 1,00,000
gl (RAR) 50,000 50,000
2t (Alud) 25,000 30,000
g (Aldd) 1,50,000 1,80,000
qdladl v (RR) 2,50,000 2,65,000

it 60 Helldl 8. A=yl 2022 el eldd AH
UuR Gauled 10,000 2 12,500 254 aeqsH s3d 8. ol Su-ll
[acd101 6iY 53 dl de eteRedl Adl Adl U3 Ful s YM2 €ls 3. 140
Ysqdl U3 dH 9.
GuLsd HUBAL wel W3dR 3+, sl 3vw e waloeldl Sl
AU (usts) otrildl.
wYal

1 A+ Rl Z Rewdt ad 2021 w2 Al visler duir sul 20
HRARL USALAL A8l .o 3. 2,00,000
BLRLRL ettt ettt e e e e e et et e et eae e e eaene 3. 50,000
Qo] A1y MHasdl (dl. 1-1-2021) oo 3. 1,00,000
R Masdld vy yeu (dl. 1-1-2021) ... 3. 4,00,000
Sudl-l 34l 43dr (Cost of capital) .................... 10%
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'Z' oot 3. 15,0004 2043 eafdd Bud aell 215 RER Masd dadl-dl
R 53 8. 2 Masd 3. 1200+ awlls vl ole wlls 3. 6000
A8l 1LY AU 8. L Hasdnl A 3. 40,0004 BHa{l Al Besd
vlealrdl sudldl 8q ©. «Adl Basd alls 3. 30001 @Rl ole
3. 12,0001 als sl Aadl »uual.

Gul 2Ll 2R

(A) %l MHasd audl el 2 Adl vdledl el A4 @A Gur-il
gLl Guylal s+

—  Asidl Yd ur qadr (ROI)

— A a5 (Residual income)l 2121ddl 2.
(B) 2 %+l Basd Al del e +dl Masd wleami 201d dl

—  Asidl i ur aadr (ROI)

— AW 195 (Residual income)-l aweiddl 2.

2 s sIRvUALAL Ylasreidl uBULAL vd AR Al Gedd 8. dl. 31l 20
20211 ¥id YR Adl AHU2UGUAL id g4 AYSd UdR 3. 75,000
Ge™Md 8. Gewled, adAl uBULAL widr A QAL w30l Hilsdl
A e 8 -

dq, Gaulen g2l uialdl [Bg uedl dael Bud
(Baw) aqit-l usdx (3.) (3.)

A 4,000 21,500 86,250

B 2,000 4,500 7,500

C 1,000 — 3,000

D 2,000 750 22,500

ol arlLell WL sul iy 92l el Big 2o A1 a2l du1el
sl 2 dl A el Balaum €ls el Bod woll 8

A B C D
3. 15 6 3 75
AL 2UHR ASLSIRSEdL salddl UsLsl dUIR s

(1) oA 92l uzdlrl g uesl auii-(l uBul sql uefl w124 deilqg
ALl SeUML 119,

(2) % ARY a2l 92l uidlel Riga o Ayl 4.
Yql
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2 Helw Rl Wi 2021wl w31 wldl 1A yoe © - 20
UBAL--34H1 ALY SIHAL AZld-Al €S 500 54l 3. 7,200.
wZBAl-2 vuddl alel 21,300 2sML 3. 1,65,400.
WBAL-31E GHRE ALl Hla-qMd 3. 80,360.

Al Mg oo 3. 39,620

Gaulel R wal ... 3. 19,810

WBAHL Ge™AA GOUR ..ot 1,100 ¥1$HL

UBAL-4 vid @S AL ..., 18,900 54l

IR €S UBAL-3AL 1,800 54l

yeldidl sa :

RN Add-l 2S5 UR WS o2
HIG-A AL 70% 80% 100%
el 50% 60% 80%
R w3l 50% 60% 80%
ALY 6L Bedlernl 5% AU 8. % AsHELS 3(UAL 3+ MLd QAL
w1d 8,

dalR $A :

(1) ysl sl 2l salag s
(2) ¥sHEls widrel siaaelly uxts
(3) H&is s

(4) L A.-34 vd.

3 R Sudl g1 90% stdadlnl sid s 8 A 20,250 visHle 15
allds Gaulen 53 8. d wRadHlla ey uglitl Guulol 52 8.
A B oxenidl 1ag © :

[ora 90% (3.) 100% (3.)
Qau8l 22.,50,000 24.,00,000
Rz wal 4,51,500 4,51,500
2 RUR vl 1,45,500 1,50,000
Ald w2l 2.13,000 2.24.250
Gaulert (SsH1Hi) 20,250 22,500
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HiG-AlHd A 1R v 2suLls ddHid R yoreirl WA, Asi-l
e 10% 9.

(1) d¥nl A5l sl s A © 3 2250 isHIrl AR Geuledt
100% s1datmdl 31 24 dl dsldd uddr 3edl s ?

(2) % dzl Hid $cdl Gislel SAHE HIA 29 @ AALRL SAMI
19 dl d¥ 2250 isHIAL s Hedl s8 Mg Bud yuqsl ?

Yql
3 s axg Bl Geuled widr A ool 8, d-dl Al BHd dldl siel. 15

HA-AHIA oo, 3. 80,000
U o 3. 70,000
AR WA L 3. 50,000

A Gauled A QAL 52,000 AAsHld O, AsiAa Y-l RAR
ML 3. 1,96,000 €. e Ald @121 AARL Guall 40% . L]
sHIR(AL 40% AUl AU Ysl ol 1wl As1AA]L Yl U 12% sl

U 8.
4 uidR AALEnAA WA qHANdl del Sl A dell AR AYIRAAG 15
A1Adl.
vaql
4 gsld avdl ¢ (ASusl =18l 15

(1)  Hd-AUA Bulesdl
(2) u%IL Geuwlesdl
(3) dAuan Rl syl

(4) dawad Re-L dgil.
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ENGLISH VERSION

Instructions :
(1) Right side figures show marks of each question.
(2) Show necessary calculations as a part of answer.

1  Raj Limited provides the data for January-2022 : 20
Particulars Budgeted (Rs.) [Actual (Rs.)
Material 4,00,000 5,20,000
Labour 2,50,000 3,25,000
Repairs (one lakh fixed) 2,00,000 2,20,000
Supervision (variable) 75,000 95,000
Factory rent (fixed) 1,00,000 1,00,000
Depreciation (fixed) 50,000 50,000
Tools (variables) 25,000 30,000
Power (variables) 1,50,000 1,80,000
Administration (fixed) 2,50,000 2,65,000

The department has 60 identical machines. During
January-2022, the budgeted and actual production of the department
are 10,000 units and 12,500 units respectively. If the department
was closed and the machine production service hired the cost will
Rs. 140 per unit.

Prepare report of cost centre, Profit centre and responsibility
centreom the above data.

OR
1 7 department of Rajan Ltd. estimate as follows for the year 2021 : 20
Profit before depreciation ...........ccccceeeeunenne. Rs. 2,00,000
Depreciation  ....occceeeeciiieeiiieeee e Rs. 50,000
Net current Assets (as Dt. 1-1-2021) ......... Rs. 1,00,000
Net value of fixed assets (Dt. 1-1-2021) ....Rs. 4,00,000
Cost of capital 1S .....ccccveeviieeiiiiieriiieecieeeiee e 10%

'Z! department thinks to sale one fixed asset which book value
is Rs. 15,000. This asset earns yearly net profit of Rs. 6000 after
deduction Rs. 1200 as depreciation. Company's aim to purchase
new asset worth Rs. 40,000 on behalf of this asset. New asset
will earn Rs. 12,000 as yearly net profit after deduction Rs. 3,000
depreciation.
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From above informations :
(A) Assume that old asset is not sale and new asset is not
purchase using the above data
Calculate :
—  Return on Investment
—  Residual income
(B) If old asset is sold and new asset is purchased then
Calculate :
— Return on investment
—  Residual income

2 In a factory four products are emerged from a process. The total 20
joint cost during the year ended on 31-3-2021 is Rs. 75,000.
The output, sales and further processing cost are as under :

Product | Output | Additional Processing Cost Sales Price
kgs. after Split off point (Rs.) (Rs.)
A 4,000 21,500 86,250
B 2,000 4,500 7,500
C 1,000 — 3,000
D 2,000 750 22,500

In case these products were sold before further processing the
selling price per kg would have been as under :

A B C D

Rs. 15 6 3 75
You are asked to prepare profitability statement based on :
(1) If the four products are sold after further processing.
(2) If they are sold at split off point.
OR
2  Following are the data in respect of process-3 of Manoj Ltd. 20

for month of March-2021 :
Opening stock of work in progress in process-3, 500 units, Rs. 7,200.
Transfer from process-2 21,300 units Rs. 1,65,400.
Direct material added in process-3 Rs. 80,360.

Direct wages — .ooeeeviieeciieeieeeee e Rs. 39,620
Production overheads ..............c.cccooo. Rs. 19,810
Units scrapped during process .............. 1,100 units
Transferred to process-4 ..................... 18,900 units
Closing stock of process-3........cc.e..... 1,800 units
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Degree of completion :

Particulars | Opening stock Closing stock Scrap
Material 70% 80% 100%
Labour 50% 60% 80%
Overhead 50% 60% 80%

There was a normal loss of 5% of production and scrapped were
sold at Rs. 3 each.

From the above information
Prepare :

(1) Statement of equivalent units.
(2) Statement of cost per unit.
(3) Valuation statement.

(4) Process-3 Account.

3 Dhara company is present working 90% of its capacity and 15

producing 20,250 units per annum. It operate a flexible budgeting
control system.

The following figures are obtained for the budget :

Particulars 90% (Rs.) 100% (Rs.)
Sales 22,50,000 24,00,000
Fixed expenses 4,51,500 4,51,500
Semi fixed expenses 1,45,500 1,50,000
Variable expenses 2,13,000 2,24.250
Production in units 20,250 22,500

Labour and materials cost per unit are constant under the present
conditions :

Profit margin is 10%.

(1) You are required to determined differential cost producing
2250 units by increasing capacity to 100%.

(2) What would you recommend for an export price for these
2250 units taking in to account that overseas prices are much
lower than indigenous prices.

OR
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Find out the selling prices of a product having following cost

structure :
Material — ...oooooiiiii. Rs. 80,000
Labour  ..cooooviiiiiiiinn, Rs. 70,000
Over heads .......ccvvvvvvevnnnnene Rs. 50,000

Sales and production are of 52,000 units.

Capital employed in fixed is Rs. 1,96,000 and that in current
assets is 40% of sales.

12% return is expected on capital employed after paying tax at
40% of net earning.

Explain the meaning of cost management and explain its

objectives and four pillars of cost management.
OR

Write short notes : (any three)

(1) Material productivity

(2) Labour productivity

(3) Benefits of management Audit
(4) Objectives of management Audit.

15

15

15
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